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1. The Gemara asks if there are n1aw by o>, In explaining the question >wn writes as an example a "
who is married to his mother’s mother, would have to divorce her. Why does he choose a case where he is
already married, as opposed to him coming to ask if he can marry a 7°1w?

2. A doesn’t have n1w if he converts because a 721w Jupo 2> anw 2a. However when it comes to
testifying >"w" says that paternity doesn’t apply because annar 0°010 nnar. Why doesn’t he just use 7°anaw 2
7w TUPd?

3. The mwn states that ANY brother can and needs to do 212’ including a “1n». How about a case where the
deceased brother was a 21mn? Do we say that continuing such a legacy is appropriate, or not?

4. The & nx asks why a ammn would be 21 if he hit his father, since the father is not ny nwyn nww. How
about axy ax 72> if a parent is not 7aY Twyn nww?

5. A brother who was born from a nnow doesn’t do 212> on his sister in law. The x723 brings the P05 of

TNTRG 770 70790 AwRa. Why isn’t he exempt because he is a "3, and even if he is 7> an we know that -
791w JoPs anaw and he is not related to his siblings?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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